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First Semester MCA Degree F xamination, Dec.09/Jan.10
Accounting and Financial Management

Time: 3 hrs. | Max. Marks:loo

Note: 1.Answer any FIVE full questions.
2. Use aof simple calculator ix allowed.

1 a Give the meaning of double entry book keeping. State the rules of debit and credit.
(0% Marks)

% b. Prepare Trading and Profit & Loss accounls for the year cnding 31-12-2009 and Balance
2 Sheet as on that date, from the below given trial balance and adjustments, in the books of
g VEEBEE Traders: . . —
: SNo. [ Name of Accounss . | Dobit (Rs.) | Credit (Rs) |
g 1 Drawing and Capital L " 10000 [ 50000 |
g 3 2 _|BRandBP____ . 5000 6000
273 3 | Purchases and sales 103500 | 1623500 |
i 4 |Opening stock (1.1.2009)__ Ol zse60f -
B 5 _ | Retuns | 28000 3300
g7 6 — |Deblorsand credtors 16200 | 12000
25 77 |salries _ .. MO0 o
s § | Wages = __ 26001 i
R 9 __ |Machinery 30000 -]
2 o 10 _ | Fumitwre L AR R se0)] 0 -]
2 2 I | Remtanduaxes . - 35000 Lo
£y 12 |Insurance . oo} -]
25 13 | Printing and stationary . . 1500 -]
g 14 _ | Cashinhand o 2000 -
S3 15 | CashatBank e 700 -]
g3 1 T T T Tewt| 234000 ] 934000 ]
=4 Adjustments:
3 ? 1) Outstanding cxpenses : Wages Rs. 400, Salaries Rs. 1000, Rent Rs. 300.
%E i) Insurance prepaid Rs. 300. ‘ ‘
3 E' iii) Write off Rs. 200 as bad debts and make a provision for doubtful debts at 5% on
4.3 sundry debtors.
2 :g iv) Depreciatc machinery at 5% and fumiture at 10%.
g § V) Closing stock on 31-12-2009 was Rs.18,000. (15 Varks)
ER-
%;‘; ® 2 a Explain the terms ‘Ratio’ and *Analysis’. Write any four uses and two limitations of Ratio
%é analysis. (10 Marks)
58 b. ‘The following information of a company is given: :
5 _%“ CU{TEHI rz?.tio - 2.5:1
e Quick ratio - 1.5:1
" Current liabilitics Rs.50,000
% Find out : i) Current asset amount i) Liguid assets smount iii) Inventory amount. (06 Marks)
E ¢. Remolds Tyre Co. ltd., has achieved a total turnover of Rs.400000. It has cost of goods sald
of R=.2,80,000, Ofhce expenses R5.30,000. Marketing expcnses Rs.20,000. I[nterest on
E' vorrowed capital is Rs.10,000. The tax rate is 30%. You are required to compute Net Profit

Ratio in percentage. {04 Marks)
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3 a  Write any two distinctions between Funds Flow stalement and Cash Flow slatcment.
(04 Viarks)
b. Following are the balance sheets of Vinay Co. as on 311 2-2008 and 31-12-2009:
[ {.iabilities ' _\ 2008 | 2009 Assets 1 2008 2009
Rs. _Rs. | B Rs. Rs._ |

hazecapial | 139000 145000 Cash__ 18000 | 15600 |
1000 3000 | Debtors | 28400 33800 |

‘Share Premiwm

‘Debentures | 24000 | 12000 | Stock | 98400 85400
Creditirs 20000 | 23680 | fand 40000 | 60000

Profit & Loss AJe | 20800 — 21120 | Goodwill | 20000 10000
SIS oca0n | 204800 | 1204800 2080
Additional information:
i) Dividend paid Rs.7000 ii) Land was purchascd for Rs.20000 iii) Amount of goodwill
written off was Rs.10000 iv) Debenture loun was repaid for Rs.12000.

Prepare statcments showing changes in working capital, adjusted profit & loss account and

funds flow statement. (16 Marks)

4 a Whatis the concept of cost? How are costs classified on the basis of behaviour? (04 Marks)

b. What is a cost sheet? Name any four items of expenses that are excluded from cost accounts.
(04 Marks)

¢. Following data are extracted from the books of Vinita Industries for the year 20009:
D . | I . Rs.
'y Topeningstosk of raw matedials _ [ . _50:000]

1

2 | Closing stock of raw materials : ~ 80,000
3 _._ytggghaseg_qf aw materials __ T 1,%,0?1-0-
4 | Carriage forwards 710,000 |
s Do T T Tnoon]
6 | indircet wages T 20000
7 | Other direct charges o 30,000 |
8 ° Rent and rates — Factory 710,000 |
9 | Rent and rates — Office ] 17600
10 | Indirect matedials | T771,000 |
11 | Depreciationofplant | 73,000
12 | Depreciation of office fumitare b 200
13 | Office salaries L ' 75,000 |
14 | Salesmen salary ' __m__"_:wﬁ _____ 4,000 |

15 | Othor office cxpenses.  _ . L. _ 1,800

16| Other factory expenses. T T 1,00
24 000

17 fanaging Dircctor's remuneration | .
18] Other selling expenses . e — - = 2,000 |
19| Travelling expenses . — s 2200
20 Camiageoutwards — ___ _ — deem — — 2,000
31U Sades ] 5,00,000 |
2771 Advance income tax paid 4. —— 30,000

T ement 4,000

23 | Advertisement
Managing director’s remuneration is © b .
the office and Rs. 12,000 to the selling departments. F

sost sheet showing: i
1) Priing cost i1} Works cost {ii) Cost of production iv) Cost of sules

e =
- allocated as Re.8000 to the factory, Rs. 4000 w
yom the above information, preparc a

v} Net profit.
(12 Marks)
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& a.  Compute P/V ratio from the following :
Total sales - Rs. 360,000
Selling price pu. - Rs, 100
Variable cost pu, -  Rs. 50
Fixed cost - Rs. 1,00,000 (04 Marks)

b. What do you mean by a budget? Write any four objeutives of budgeting conlrol, (04 Marks)

e. For the production of 10,000 clectrical automatic irons the budget cxpenses are:

Rs.
Raw materials 120 p.u.
Direct labour 60 p.u
Variable overheads 50 p.u.
Fixed uverhcads 30 p.u (Rs.3,00.000)
Direct cxpenses 10 puw
Selling cxpenses 30 p.u. {(10% tixcd) -
Administrative ¢Xpenses Rs. 1,00,000 (Rigid for all levels)
Distribution cxpenses 10 p.u. (20% fixed)
Prepare a {lexible budget for production of 8000 and 12000 irons. (12 Marks)
6 a. Give the meaning of working gapital. Why is it called circulating capital? (04 Marks)

b. You are given the following esthmates. As a financial manager, set up your catculalions for
the average amount of working capital required for the ycar after making a provision of 10%
for conlingencies:

Amount blocked-up for stocks: Rs.
Finished goods - 3500
Raw materials - 4000
Average crodit given
Inland sales - 6 weeks credit - 156000
Fxport salcs - 1% weeks credit - 39000
Lag in payment of expenses:
Wages - 144 weeks - 130000
Purchases of materials - 1% months - 24000
Rent, Royalties - & months - 5000
Clerical staff — %2 month - 31200
Manager - 2 month - 24(H)
Mizcellaneous exXpenses - 1Y months - 24000
Payment in Advance: _ _
Sundry expenses paid quarlerly advance - 4000 {16 Murks)
4 a  Writethe steps involved in capital budgeting process. (04 Marks)
(04 Marks)

b Name any four advanlages of pay back period method.

1ofd

- Download 10th and 12th previous year old paper and model papers for all subjects


http://www.howtoexam.com

http://www.howtoexam.com

0TMCAILLA

7 ¢ The following are the particulars relating to project number - 009: -

Ks.

Cust of the project - 50,000
Operating savings :

[ - Year - 5,000

Il — Year - 20,000

I - Year - 30,000

IV - Year - 30,000

Raw matcrials - 10,000

(alculate discounted pay back period:
i)  Ignoring interest factor
i)  Taking into interest factor at 10% \ |
Note : Present value of Re.l at 10% for 19, 2% 3" and 4™ year is 0.909, 0.826, 0.751 and

0.683 respectively. (12 Marks)
8 Write elaborately on:
a. Subsidiary Books {10 Marks)
b. Accounting concepls. (10 Marks)
& x5 b
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